Math 3201 – Chapter 2 Test





Name:_________________
Part 1.
Multiple Choice (15)
1. Samantha is choosing an outfit to wear to the dance.  She has 3 different tops, 
4 different pants and 2 different pairs of shoes to choose from.  How many 
different outfits could she make from this selection of clothes?


1.___
A) 9


B)  12


C) 14


D)  24 
2.
Simplify:

[image: image23.wmf]A

B

N

S

E

W

 










2.___

A) 0.0111

B) 168


 C) 336

D)  2,419,200

3.
Consider the word CAT.  In how many different ways can the letters be arranged?
3.___
A)  1


B)  3


C)  4


D)  6

4.
Simplify: 
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4.___
A)  
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5.
What restriction must be applied to the variable in #4 above?



5.___


A)  
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6.
In the grid below, a person must travel from A to B by only heading East (E) or 

South (S). Under these rules, which represents the total number of possible 
routes that can be taken to get from A to B ?





6.___
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C)  
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7.
A briefcase lock opens with the correct four-digit code.  If the digits 0 to 9 are


allowed and a digit cannot be repeated, how many different four-digit codes 

are possible?










7.___


A)  24


B) 34


C) 5040

D) 3024

8.
How many ways can 5 friends stand in a row for a photograph if Alex and Andrea


 always stand together?









8.___

A)  120

B)  48


C)  240


D)  60

9.
How many different arrangements can be made using all the letters in NEWFOUNDLAND?









9.___

A)  362,880

B)  479,001,600
C)  39,916,800

D)  665,280

10.  
How many different combinations of 3 letters can be made using all 26 letters in 


the alphabet?










10.__

A) 15,600

B)  2600

C)  23



D) 69
11.
How many different ways can the letters of SASKATOON be arranged if you 


must start with a T and end with a K ?







11.__

A) 630

B)  1260

C)  5040


D) 24

12.
The student council has 10 members, 6 girls and 4 boys.  A dance committee is to 


be formed consisting of exactly two girls and two boys.  Which calculation could be 


used to determine the number of different ways this committee could be formed?
12.__

A) 
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13.
Solve for n:
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13.__

A) 11


B)  13


C)  12



D) -13

14.
Calculate:
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14.__


A) 3


B)  15


C)  30



D)  24

15.
How many different 3 topping pizzas can you create if you have 8 toppings to choose from?












15.__

A)  56


B) 24


C)  336


D) 6720

Part 2.
Answer all questions in the space provided. Show all workings!

(20)
16.
Six different scholarships will be awarded at the graduation ceremonies in November.  

If the graduating class has 30 students determine the number of ways to award the scholarships if,


A) there are no conditions on who can win the scholarships

(2)

B) no student can win more than one scholarship

(2)

C) Clara must be awarded the “Most Improved Student” scholarship and Craig must receive the scholarship for highest average. 
(2)
17.
Four students are to be chosen from a group of 10 to fill the positions of president, vice-president, treasurer and secretary.  In how many ways can this be accomplished?
(2)
18.
Algebraically solve for n  and verify your answer:
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(4)
19.
A group of five Art club students are to be selected for a field trip to the Rooms.  If there are 5 boys and 6 girls in the club, how many ways can the leader select the five students if there must be at most 2 boys?

(4)
20.
You need to create a password that must be at least 4 characters but no more than 6 characters long.  The password may contain lower case letters as well as the digits 1 to 9.  No repeated characters are allowed.  How many different passwords are possible?
(4)

� EMBED FXDraw3.Document  ���











[image: image22.wmf]A

B

N

S

E

W

_1444383279.unknown

_1444383462.unknown

_1444383567.unknown

_1444384064.unknown

_1444386162.unknown

_1444383578.unknown

_1444383531.unknown

_1444383403.unknown

_1444383434.unknown

_1444377416.unknown

_1444382915.unknown

_1444383033.unknown

_1444383089.unknown

_1444382994.unknown

_1444377442.unknown

_1435580123.unknown

_1444111488.unknown

_1429962609.unknown

_1435580116.unknown

_1435487784.unknown

_1429962602.unknown

_1429961670.bin

